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Instructions:

There are 15 multiple choice questions each worth 2 points for a total of 30 points.  Please pick the best answer from the choices available.  There are also 14 short answer questions worth 5 points each for a total of 70 points.  Your answers may be a few words, a single sentence, or a short paragraph.  Make sure your answers are complete as written without reference to non-included material.  Assume the question is asking about US law unless specifically identified otherwise.
Multiple Choice Questions:

1 – An Examiner must show a suggestion or motivation to combine references in an obviousness rejection.
A – True

B – False

2 – Can an Examiner issue a proper obviousness rejection by simply showing that all elements of the claimed invention exist in the prior art?
A – Yes

B – No

3 – The specification of a patent must enable a claim range over the entire range of the claim.

A – True

B – False

4 – A patent is still valid even though some amount of experimental is necessary to make the invention.
A – True

B – False

5 – A written description violation may occur when
A – The claims are too broad

B – The claims contain new matter not described in the application as filed

C – A & B

D – None of the above

6 – The manner in which the specification is written can cause claims to be interpreted more narrowly by a court.

A – True

B – False

7 – Can a design patent and a utility patent protect different aspects of the same article?
A – Yes

B – No

8 – Under US law, a claim ordinarily cannot be entirely defined by reference to the specification.
A – True

B – False

9 & 10 – A claim of the patent has the following elements:

W;

X; 

Y; and

Z

9 – If the transition is “comprising”, does an invention with W, X, Y, Z, and V infringe the claim?

A – Yes

B – No

C – Maybe
10 – If the transition is “consisting essentially of”, does an invention with W, X, Y, Z, and V infringe the claim?

A – Yes

B – No

C – Maybe

11 – A dependent claim can be broader than the claim on which it depends.

A – True

B – False

12 – A provisional patent application publishes 18 months after its filing.
A – Yes

B – No

C – Maybe
13 – A person that does not contribute to the conception of an invention may still properly be named as an inventor or a co-inventor on a patent.
A – Yes

B – No

C – Maybe

14 – If person X is a co-inventor only with respect to claim 15 on a patent application including 15 claims, with respect to the USPTO person X should be:
A – Identified as a co-inventor of the entire patent application

B – Specifically identified as a co-inventor of claim 15

C – A & B

D – None of the above
15 – What is/are the purpose(s) of having narrower claims in a patent application?
A – Greater chance for allowance

B – Greater chance for enforceability

C – Broader protection

D – A & B
Short Answer Questions:
1 – When does the language in the preamble limit act as a claim limitation?

2 – Name at least three grounds that an Examiner can use as a basis for rejecting a claimed invention as being obvious. 

3 – Is it still necessary to comply with the best mode requirement in newly filed patent applications?  Explain.
4 – Does it matter how much description you include in the specification for a structural element you include if you include a means plus function claim element based on the structural element?  Explain.  
5 – What is a Jepson claim and what risk do you have if you include one in a patent application?

6 – Can the specification be used to narrow the claimed invention?  Explain.
7 – How can a nonobvious-type double patenting rejection be overcome?

8 – Co-worker F. Art Freely is at your office and hears that you are preparing to file a patent application on a new gaseous treatment for plants that was conceived by Ima T. Hugger.  Art tells you that he should be named as an inventor because he built an implementation of the invention based on information received from Ms. Hugger.  Assuming he built such an implementation, should Art be a co-inventor?  Explain.

9 – Can you seek broader claims on a patent after issuance?  Explain.
10 – Can the claimed invention be broader than the supporting specification?  Explain.
11 – How will a court analyze a claim to determine if it is in means-plus-function format?  Explain.
12 – When during patent prosecution might you receive a rejection for a lack of antecedent basis?  Explain.

13 – How could an inventor violate his/her duty of candor with the U.S. Patent Office?  Explain.
14 – Why must an applicant show a nexus between the claimed invention and objective evidence in trying to overcome an obviousness rejection?  Explain.
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